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4 A
SECTION A
Answer ONE question from EITHER Question 1(a) OR Question 1(b).
EITHER
1 (a) Examine the similarities in terms of membership, purpose and effectiveness of the
G7 and G20 organisations and their impact on global politics.
(12)
OR
(b) Examine the differences between democratic and autocratic states in terms of
their characteristics and the consequences for global order.
(12)
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Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box ¢ and then indicate your new question with a cross X.

Chosen question number:  Question 1(a) [ Question 1(b) []
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(Total for Question 1 = 12 marks)

TOTAL FOR SECTION A =12 MARKS
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SECTION B
Answer Question 2.

2 Analyse the differences that exist between realists and liberals in the ways they view
human nature and power.

In your answer you must discuss any relevant core political ideas.
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(Total for Question 2 = 12 marks)

TOTAL FOR SECTION B = 12 MARKS
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SECTION C

Answer TWO questions from EITHER Question 3(a) OR Question 3(b) OR Question 3(c).

In your answer you should make connections between relevant areas of

politics studied from Global Politics.
EITHER

3 (a) Evaluate the view that a trend away from globalisation and regionalism would
place greater emphasis on state sovereignty and thus hinder the promotion of
human rights.

You must consider this view and the alternative to this view in a balanced way.

AND/OR

(b) Evaluate the view that the slow rate of progress over climate change results
primarily from economic inequalities within and between countries rather than
from the actions of particular countries and political institutions.

You must consider this view and the alternative to this view in a balanced way.

AND/OR

(c) Evaluate the view that regional bodies have had more impact on contemporary
global issues than the IMF, World Bank and WTO.

You must consider this view and the alternative to this view in a balanced way.
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Indicate the first question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box < and then indicate your new answer with a cross [X.

Chosen question number: Question3(a) [] Question3(b) [] Question3(c) L[]
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Indicate the second question you are answering by marking a cross in the box X. If you change
your mind, put a line through the box £¢ and then indicate your new question with a cross X.

Chosen question number: Question3(a) [] Question3(b) [] Question3(c) L[]
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(Total for Question 3 = 60 marks)

TOTAL FOR SECTION C = 60 MARKS
TOTAL FOR PAPER = 84 MARKS
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